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BLLE - =X 48,012, 773
T = 46, 425, 638
PRHI T (ICT) = 693, 150 | HiEHI (ICT) 1, 500 m3
(1)
T -7 vhyh FEEMEL 5, 000m3ATM ;
%+ T (ICT) = 40, 256, 450 | B4 (BE42) BS 1 (ICT) 19, 100 m3
FEIA (b-27) 21, 200 m3
+# +£50, 000m3AKTiH ;
o 21,210 m3
b CaE- AR £&Te)
TEEETE T.(ICT) 1,630, 196 | VAP (@ 1356) (ICT) 3, 020 m2
EmkEE O L
AT = 3, 845, 842 | HHbEEEHE 1 Y
T CaEl- ERRY £E5T)
¥ Ly 1 K
(FE1)
iy ax 1. =X 66, 557
A1 T =X 66, 557 | =R 399 m
g 90cm HS 30cm ;
HEME T = 156, 702
HES G L T S 113,330 |2v7)-Mi&E R L 7 m3
SRk EY BEWE L
TEHR LB T = 43,372 | ELEHE 7 m3
20 -k (BR) ;
g U 7 m3
20 - bk (BRI
IE% T 1, 363, 876
THEMHBERK LT 718,036 | HhbF 2,280 m2

P& RC-40 #JE 100mm ;
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AEE BT F2V 1 645, 840 | AZi1W A5 E A B =
EE TR = 1 48,012, 773
IR = 1 6, 488, 091
I = 1 1, 936, 091

TERE = 1 154, 080 | (Kb iE Ly =

Bl ety =X 1 1,254,011 |fRSF&EHE(ICT) =

YAThRIH % (ICT) 2
B RRUGEE (F5 L) =X 1 528, 000
R E (FE: L) =X 1 4, 552, 000
T =X 1 54, 500, 864
Bl B M B2V 1 18, 025, 000
T FJ5U = 1 72, 525, 864
—E PR S = 1 12,824, 136
T H ik = 1 85, 350, 000




